Regular quadrangular pyramid

Sides are equal and equilateral triangles
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Pythagoras' theorem a? + a% = d?

Sample need length of the edge 100 mm

H= 100 = 0,70710678118 x 100 = 70,710678118 mm
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a d (1002 + 1002 141,421356237
= ——= = =70,7106781185mm
V2 2 2 2

H ~ R? Have the mathematical case, no solution is-H = % = 35,355339059 mm.

In this case, we see a clear problem with the estimated values, so | advise you to use the doubled value,
and then perform the necessary scaling.

R = 141,421356237 mm (for XZ axis — if length edge100 mm)

_ 141,421356237
- 2

H = 70,7106781185 mm (for Y axis - height of the pyramid)

Now you need to go back to the original settings, apply scaling to 50 percent (or at any convenient value
to you).

Sample: Activate action center, set all value as 0-0-0, and scale to 50 percent, and rotate geometry 45
degrees on the Y axis. Regular pyramid with the required length edges ready.






The Cheops pyramid ratio

Sum of the four edges the base of the pyramid is the length of a circle whose radius is equal to its height.

to calculate the height

Sample need bottom based edges 100 mm
C=a+a+a+a=100X%x4=400mm

C 400
d= % = 3.1415926535897932384626433832795 127,32395447351626861510701069801 mm

Ry =2 = 63,661977236758134307553505349006 mm this H (height of the pyramid Y axis)

2_

Rpase = 141,421356237 mum (for XZ axis — if length edge100 mm) - formula for calculating the
circumference of the described see above

Do not forget - this is twice the value of modeling primitives cone!
If we look we see Wikipedia:
Height — 146,5 meters (481 ft.), ancient
138,8 meters (455 Ft.), contemporary

Base — 230,4 meters (756 ft.)

Base _ 2304

Ratio = —— =1,5726962457337883959044368600683 - imprecision associated with the

H ~ 1465
measurements.
i Base  Base (length edge100) 100
Our ratio = = = —
H Ry 63,661977236758134307553505349006

= 1,5707963267948966192313216916399



Enter these values and apply scaling and rotation, as done for the previous pyramid.
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Deselect all polygons and ready
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